

### Diana D5-1





#### Target installation

The Diana D5-1 is a 15.6" All in One POS solution that will perform at a high level and in adverse conditions with no difficulty.

A technology rich solution that offers industrial grade performance with a high-quality design will make a dramatic statement in your store's environment.









# For an optimized workflow

Diana is designed for multi- tasking. The All-In-One stand with optional MSR & iButton Reader, cable management base, IO Cover and second display.



**MSR & iButton reader** 



Cable management base







## Design for Easy Maintenance

The Diana D5-1 is easily maintained through maintenance and accessible design.





MODELL Diana D5-1	
Intel Celeron 3965U (IOTG)	
Processor (IOTG) Intel Core i3-7100U (IOTG)	
Intel Core i5-7300U (IOTG)	
Graphic Chipset integrated	
System memory 1 x 4GB DDR4 SO-DIMM memory	
Storage device 1 x 128GB SSD, M.2 Interface	
LCD size 15.6" TFT LCD	
Brightness 350 nits	
Resolution 1920 x 1080	
Touch screen True-Flat PCAP multi-touch screen	
USB 4 x USB 3.0, 5 x USB 2.0	
Serial Port 1 x RS-232 (COM1 is DB-9 w/DC 0V/+5V/+12V, selectable by BIOS, defa	ult setting is DC 0V)
Title 202 (committee 25 ) Higher contractions by Biospania	
LAN 1 x R-J45 (10/100/1000 Base-T)	•
	S
LAN 1 x R-J45 (10/100/1000 Base-T)	
LAN 1 x R-J45 (10/100/1000 Base-T)  Cash drawer 1 x RJ-11 (Support DC +12V) port supports 2 cash drawer	
LAN  1 x R-J45 (10/100/1000 Base-T)  Cash drawer  1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  VGA  1 x DB-15 (support DC 0V/+12V, selectable by BIOS, default setting	
LAN  1 x R-J45 (10/100/1000 Base-T)  Cash drawer  1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  VGA  1 x DB-15 (support DC 0V/+12V, selectable by BIOS, default setting  DC-Jack  1 x DC+12v powered USB 1x DC+24v Powered USB	
LAN  1 x R-J45 (10/100/1000 Base-T)  Cash drawer  1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  VGA  1 x DB-15 (support DC 0V/+12V, selectable by BIOS, default setting  DC-Jack  1 x DC+12v jack with locked screw  Powered USB Port (Op- tion) - TBC  3 x DC+12v Powered USB 1x DC+24v Powered USB	
LAN 1 x R-J45 (10/100/1000 Base-T)  Cash drawer 1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  VGA 1 x DB-15 (support DC 0V/+12V, selectable by BIOS, default setting  DC-Jack 1 x DC+12v jack with locked screw  Powered USB Port (Op- tion) - TBC 3 x DC+12v Powered USB 1 x DC+24v Powered USB  Power button 1	
LAN 1 x R-J45 (10/100/1000 Base-T)  Cash drawer 1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  VGA 1 x DB-15 (support DC 0V/+12V, selectable by BIOS, default setting  DC-Jack 1 x DC+12v jack with locked screw  Powered USB Port (Op- tion) - TBC 3 x DC+12v Powered USB 1 x DC+24v Powered USB  Power button 1  Internal Speaker 1 x 2w	
LAN  1 x R-J45 (10/100/1000 Base-T)  1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  VGA  1 x DB-15 (support DC 0V/+12V, selectable by BIOS, default setting  DC-Jack  1 x DC+12v jack with locked screw  Powered USB Port (Op- tion) - TBC  Power button  1  Internal Speaker  1 x 2w  LED Indicator  1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  3 x DC+12v Powered USB IS DC+2V Powered USB IS DC+12V Powered USB IX DC+12V Powered USB IX DC+2V Powered USB IX DC+12V Powe	
LAN  1 x R-J45 (10/100/1000 Base-T)  Cash drawer  VGA  1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  1 x DB-15 (support DC 0V/+12V, selectable by BIOS, default setting  DC-Jack  Powered USB Port (Op- tion) - TBC  Power button  1  Internal Speaker  LED Indicator  Nounting  Power adaptor	is DC 0V)
LAN  1 x R-J45 (10/100/1000 Base-T)  Cash drawer  1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  VGA  1 x DB-15 (support DC 0V/+12V, selectable by BIOS, default setting  DC-Jack  1 x DC+12v jack with locked screw  Powered USB Port (Op- tion) - TBC  Power button  1 Internal Speaker  1 x 2w  LED Indicator  1 for Power LED  Mounting  VESA mount 75 x 75  Power adaptor  (Powered USB will use 180watt adaptor) - TBC  3-Track MSR, USB interface 2x20 character LCM, USB interface 10.1" Resolution 1280 x 800 (16:10 wide screen), USB interface RFID reader, USB interface (develop by request)	is DC 0V)
LAN  1 x R-J45 (10/100/1000 Base-T)  Cash drawer  1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  VGA  1x DB-15 (support DC 0V/+12V, selectable by BIOS, default setting  DC-Jack  1x DC+12v jack with locked screw  Powered USB Port (Op-tion) - TBC  Power button  1 Internal Speaker  1 x 2w  LED Indicator  Mounting  VESA mount 75 x 75  Power adaptor  Peripherals (Option)  Peripherals (Option)  1 x 2w (Powered USB will use 180watt adaptor) - TBC  3-Track MSR, USB interface 2x20 character LCM, USB interface 10.1" Resolution 1280 x 800 (16:10 wide screen), USB interface RFID reader, USB interface (develop by request) 2D Scanner, USB interface (develop by request)"	is DC 0V)
LAN  1 x R-J45 (10/100/1000 Base-T)  Cash drawer  1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  VGA  1 x DB-15 (support DC 0V/+12V, selectable by BIOS, default setting  DC-Jack  Powered USB Port (Op-tion) - TBC  Power button  Internal Speaker  LED Indicator  Mounting  VESA mount 75 x 75  Power adaptor  Power adaptor  Peripherals (Option)  Table Coption  1 x R-J45 (10/100/1000 Base-T)  1 x DC+12V port supports 2 cash drawer  1 x DC+12V powered USB y BIOS, default setting  3 x DC+12V powered USB 1x DC+24V Powered USB  1 x 2W  LED Indicator  1 for Power LED  Mounting  VESA mount 75 x 75  60W/DC+12V input (Powered USB will use 180watt adaptor) - TBC  3-Track MSR, USB interface 2 x 20 character LCM, USB interface 10.1" Resolution 1280 x 800 (16:10 wide screen), USB interface iButton reader, USB interface (develop by request) 2D Scanner, USB interface (develop by request)"  Material  Die-Cast aluminum main unit with plastic covers	is DC 0V)
LAN  1 x R-J45 (10/100/1000 Base-T)  Cash drawer  1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  VGA  1x DB-15 (support DC 0V/+12V, selectable by BIOS, default setting  DC-Jack  1x DC+12v pack with locked screw  Powered USB Port (Op- tion) - TBC  Power button  1 Internal Speaker  1 x 2w  LED Indicator  Mounting  VESA mount 75 x 75  60W/DC+12v input (Powered USB will use 180watt adaptor) - TBC  Power adaptor  (Powered USB will use 180watt adaptor) - TBC  3-Track MSR, USB interface 2x20 character LCM, USB interface 10.1" Resolution 1280 x 800 (16:10 wide screen), USB interface RFID reader, USB interface (develop by request) 2D Scanner, USB interface (develop by request)  Material  Die-Cast aluminum main unit with plastic covers  Certificates  CE/FCC, Class A  Dimensions	is DC 0V)
LAN 1 x R-J45 (10/100/1000 Base-T)  Cash drawer 1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  VGA 1 x DB-15 (support DC 0V/+12V, selectable by BIOS, default setting  DC-Jack 1 x DC+12v powered USB 1x DC+24v Powered USB  Powered USB Port (Op- tion) - TBC 3 x DC+12v Powered USB 1x DC+24v Powered USB  Power button 1 1  Internal Speaker 1 x 2w  LED Indicator 1 for Power LED  Mounting VESA mount 75 x 75  60W/DC+12v input (Powered USB will use 180 watt adaptor) - TBC  3-Track MSR, USB interface 2x20 character LCM, USB interface 10.1" Resolution 1280 x 800 (16:10 wide screen), USB interface RFID reader, USB interface (develop by request) 2D Scanner, USB interface (develop by request)  Material Die-Cast aluminum main unit with plastic covers  Certificates CE/FCC, Class A  Dimensions (W x H x D mm) 359.8 x 261.2 x 178 mm	is DC 0V)
LAN 1 x R-J45 (10/100/1000 Base-T)  Cash drawer 1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  VGA 1 x DB-15 (support DC 0V/+12V, selectable by BIOS, default setting  DC-Jack 1 x DC+12v powered USB port (Op- tion) - TBC 2 x DC+12v Powered USB 1x DC+24v Powered USB  Power button 1 1  Internal Speaker 1 x 2w  LED Indicator 1 for Power LED  Mounting VESA mount 75 x 75  60W/DC+12v input (Powered USB will use 180watt adaptor) - TBC  Peripherals (Option) 2 - Tack MSR, USB interface 2 x 20 character LCM, USB interface 10.1" Resolution 1280 x 800 (16:10 wide screen), USB interface RFID reader, USB interface (develop by request) 2D Scanner, USB interface (develop by request)  Material Die-Cast aluminum main unit with plastic covers  Certificates CE/FCC, Class A  Dimensions (W x H x D mm)  Weight TBC	is DC 0V)
LAN  1 x R-J45 (10/100/1000 Base-T)  1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  VGA  1 x DB-15 (support DC 0V/+12V, selectable by BIOS, default setting  DC-Jack  1 x DC+12v powered USB Port (Op- tion) - TBC  Power button  1 ternal Speaker  LED Indicator  Mounting  Power adaptor  Peripherals (Option)  Peripherals (Option)  Material  Certificates  Certificates  Dimensions (W x H x D mm)  Weight  DC-Jack  1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  1 x RJ-11 (Support DC +12V) port supports 2 cash drawer  1 x DC+12V, power supports 2 cash drawer  1 x DC +12V power supports 2 cash drawer  1 x DC +12V power supports 2 cash drawer  1 x DC +12V power supports 2 cash drawer  1 x DC +12V power supports 2 cash drawer  1 x DC +12V power supports 2 cash drawer  1 x DC +12V power supports 2 cash drawer	is DC 0V)

### Diana Technical



- All-in-one POS
- 15.6" True-Flat PCAP multi-touch screen
- Slim and stylish design for retail and hospitality
- 10-point PCAP touch
- Fanless Design
- Easy replaceable memory and SSD

5



#### Get in touch



T. +49 40 450 635 0 F. +49 40 450 635 200



info@partner-tech.eu



Beim Umspannwerk 10, 22844 Norderstedt



www.partner-tech.eu









